Practice - Factor each of the foIIow :59 perfect square trinomial:

byb=-73 9- |
aﬁ-‘bﬂ —5 jor s i i}—?\&
a)x*+12x+36 b)x*-10x + 25 c) X% - 18x+81

(x49x46) (x-5Xx-5)  (x-Vx-Y)
(x~6) (X-"f))a (x-9)



Practice - Find the value that should be placed in each blank in

order to create a perfect squ?rs trinomial.
7T ond Squafe

a)x2+4x+i b)x?-8x+ 16 c)x*-14x+ 49
d)x2-2x+ | e)x2-3x+_% f)d2+9d+;%l_—

g)a®+3Ca+100 h)g’- 2+ 121 i)p®- 2p +121
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Genera | Form

Example
Change to Transformational Form: y = 2x*-8x + 5

Step 1 Y -9 = ax‘-gx
Step 2 w-5 = 3(x°-ﬂ_>b

'-Ix)a-: Gag’ .
Step3 Y- S*I= m§\

¢ G -3
Stepa  Y¥d = D) o '\AMD

Step 5 -%( 5’«5) = (.X‘BS
(Teqndioravabiorel )



O 4= X +Hx+50 Wxg =0

y-504A = X +14X 4 49

g-1 = (x+7) (_Tm"sg"‘""*@\
Y= (X-\-‘\?‘\-\ (M”A)
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